20170 40 180
opoooo
kotaro@math.titech.ac.jp

O0C0OO0DO A1 OMTH.B4050 0000 2

gooo

eJ0000O0O0COOOODOOOOOOOOODOODOOODOOOOOOOODOOODOOOOOOO
oooooooobooooooooobooooboboooooboooooooooooooboOooDbboOooon
OwebOOOOOOOOOOOOOOOOOOODOOOOODOOOOMmM

gogooobod

000000000000 (s,¢4) 0000000000000000000000000000

00000 400000002000V 00000 =¢00000

000005000 110005000000 50006000000 6000
00000000 = 0000000000

00000 600006000vects = x

00000 600002,3,4,1100000000000

00000 700002000 R"0RO000000000000000000000000 RYPOO0OOO
0000000000000000000000000

00000 7000020000000000000000 R"O000000 ... =000000000000
ODR"0D000 R ODOOOOO ...

0000080000000 3000(w,v)=00000 A00000000000000000000000
0000090000000 5000dimWNdimW* =WnWw* (200)

00000 110000000 5000Ry = Ry

gogooboood

e U000 p. 800000000 DDOOOODDODOOODDOODOODDDOOODOOOOODDOOOOODODOOOODDOOOOOOO
gooooooooooooo gooooooo oooooooooooooo

e 0000 IOOOODOOOOOOOODODOOODOOOOOOODOOOOOOOOOOOOODOOOOOOOO
oooooooo oooooo

goooooooooooooOoOooOoooooooo gooooooo ooo

pgobooooooooooooOOoOoOo0O0O00 00000000 oboooooo?

e 000D OIOOOODOOOOOOOOODOOOOOOOOOODOOODOOOOOOODOOODOOOOOOOOOOOOOOO

00000000 HPOOOOOOOOOOOOOOOOOOOOOOOOOOOOOO O(2,1)0000000OOOOOO

gooooooooooooooooooooo 00000oooo 0D0o0o(2,1)0000000000000000000

ddjo0o0000oO00OoOoO0OoOoOoO0O0O0O0O0O0O0O0O00OO000000O000D0O0O0O0D/0000000000000OO0
oooooooo oooooooooooooo

goooo

oo0 OooboooooooooboooooooOooOoObobOOoooooo
0000 RYOOODOOOOR"OODOR"ODOOODOODOOOOOOOOOOODOOOOOOOOODOR"OODOOOOO
00000000 R"—-RO0OOOD0OODODOOOOOOOOOODOOOOODOOODOOODOODODOOD



00000 AlOMTH.B40500000 2 2

000 0000O0000O000O0D00O0O0ODO0OO0DO0OLD0ODODO0UOO0ODO (n,0)0D DODODODODOODOD
000 (n—1,1)0000000000000O0O00OODOOO0OODOOOODOOODODOOOOODOO 2000
0000D000000000000000000000R? 00000000000 (3,0), (2,1), (1,2), (0,3) O
00000 20000000000000000000000000000O0O0O0O0O0OO0UOO0OO? O
goooooood

0000 ooo (n,0)J0DC0ODODOODDODDOODOODOOOO(R-1,1)000D000DOODOOD
O00000 (m,m) 0000 neutral 0000000 O0C™ 000 2z = “(21,...,2,) 00000 (z,2) =
Re(zf+---+22) 000000000 R =C"00002000000000000000 (m,m) 000

000 O00O0O0OO00OO00O0DO0O00DO0O0DOO0 nz22000000000n=1000D00000O7

0000 »=1000000000 (1,000 (0,1)0000(0,1)00000000000000000 (1,0)000
gooooooooooooooooooooooooboooooooDoon

000 0O0O0000OO000000o000o0O00040000000000000000OC0O000000O000O00O0O
gooooOoO0ooooOO0oO0O00ooooOOo0O00OooOOoO0OO00O0 30oooOo0o0o0ooboooOoOoOooogooo
pobooobooooboooboobooboobo booboboobooboobOoobooboobooobooo

oo boobdooboboooooboobooboboOooOob0oOoboOobobOob0ObObO0ObOObOobObObObObObObO
pobooooobooooobooobooobooboooboooboboobOooboboboboobbobOoOoboOobobooooon
goooooobo oooooooboooooooOoOboOoO0oOoOoOoOOOObOOOOOOOOOOOOOOOOO

000 00119000000000000000O000O0O0CODOOO?

o000 oOobooomooooooboooooooOoOobOoOoOooOoOoOObOOO0OO0OOOOOOObOOOOOOOOObD

o0 oOooooooobooooooooooOobooOoOooObOoOoOOObOOOoOObOO0OO0OODObOOOOObOOOOObCOO
gooooooooooobooooooooobooobooboooooOooboOoboooOOobOoOoOoOoOObobOooooon
goooooobooooooooobooooooooooboboooo

gooo oOoooooooooooooboobooboOboOoOoomoOoobooboooooooOOCOOOOOOODOOOCOOOOOno
goooooooooooooooobooooooooobobooooooooOoboboOoooooDOobbOoOoo

000 Hilbert 000000D0O0DDOD (1) 0000 (2)000000O0D0O0O0ODOOOB)O0ODODOOODOOO
goooooooooooooooooooboobooOoooooOoOobbOOoOoOoOoOObObOOoOoOoOObObOOoOoooon
000000 (3) 0000000000 DL0O000DO0O00O0D? D0DOD0O0OODOOODODOOOODOO
0000000000000 000DLO000000000DO0O00D0O0O0ODODO0O0 (3)0bbO0UooDoO
goooooooooooooooooOooooobooobooOooo

oooo OoooooboooOoOoOoobomoOoOo20000000O0COOO0O0O0COCOOOOOCOOOOOOOGCOOOO0
goooooboooooooobooOooooboooboOooooobooboOoOooOoooOOoOoOooooooOoboOoOoOoooon
00000000000 000000O000O00DO0O00Ob0O0O0D0O00D 22— (y,z)000000O0O0ODOOOO
poooooooobooOoOoOoOoOooOoOoOOOOOOOOO0OO0O0200000000C0C0000000GCCO
ooooooo200000000O0C0O000O000OG0COOOOOO 20000000000000O

oob0 OooooooodooooboobooobocoooobooooobocOoooobocOoOoooObocOoOoooboOoooobogan
ooobooooob OoOoOoOoOoOooooboOoOOOOOOOOOOO0OOCOOOOO0200O0C0O0O000000CO
goooooobooooooooobooooooooooo

000 Riemann metric (OO0 0O O Riemannian metric 0 0 0 0 0 0 )0 pseudo Riemann metric 0 R* 00000
000000000000000000000 indexO0O0O0O0OO0OO0ODOO0O0O0O0O0O0O0O0O0O0DOOOOOOOO
0000000 R"0O0000O00O00000O000O00ODO0ODO0OO0OO

0000 0OOoO0o00oo0o0oOo0o0ooOoR*"0O0O0OO0OO0O0OO0OO0OO0OODOOO0OOOO0OOOOODOO0OROO0O00O0O0O0O
gooooOoooooooOoooooooooo J,,OOoOoooooooooo

oo boooboooobooooobobObOoooOoOooOOObOOobOObOObOOObObObOObOOn

oboodo oobooooooo

oo0 oOooboooooooooboboooooooOooOoObOO0OO0OOOOOODbO0 OooooOobo

000 0000000000000 00000000D000O0O000000000000000000000m (M, g):
00000000V: (M,g) 0 Levi-Civita 000dimM 22000000000000000000000(1)
ViXs = Vi(gi;X7) = g5, Ve X7, (2) Rici identity: (V,V; — V,;V,)X* = R;;* X'D

0000 0000 Xde! 000000000 g0 V-00OOOO0000000000000000



